"el [GeV]

(1/Njet)dN/dp

Ratio to ATLAS

=
o
N

T

=
(@)

1071

1072

[EEY

0.5

7000 GeV pp Soft QCD
=/~ r . 1 - T T ] - T T T 1 I R
- Relative P, (track jets) —
I /!"!.'\~' —
= » ey -
— YS .
— ¥ *a ]
B ..
= u —
~ LY -
- m, N

L,
\:
— ) =
E \Ql E
—  m  ATLAS \\”‘ﬂ -
— --£-- Pythia 6.428 391 “m 7
= - Pythia 6.428 393 “i =
— --e- Pythia 6.428 394 N
- --v- Pythia 6.428 395 5

0.5

Charged Particle |6Tel [GeV]

Rivet 3.1.10, = 2.3M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


